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1. Solve these expressions:

a.  2.56 -  =  					b.  19.76 + 9  =  			

2. Solve.  Joe ran 5 miles yesterday.  He walked 2 miles today.  How many more miles did Joe run than walk?																										
3. Solve.  In the concession stand, there were  pieces of pizza left over after a ballgame.  What mixed number is equivalent to  ?								

4.  +  =   		

5. Write in standard form: seven hundred six and two hundred thousandths 			


Wednesday HOMEWORK, January 14		Name								
1. Solve.  Mrs. Tosh cleaned her house 1 hours on Thursday and 2 hours on Friday (WHEW!!!).  ABOUT how long did she clean?
														

2. What is another way to write 16.25? 	a.  16		b.  16	c.  16		d.  16	

3. Solve.  10  -   7 =		   			


4. Order from least to greatest.   0.6, 6, 0.006, 6.6 ______________________________________

5. Write in standard form.  The squash weighed four and nine thousandths.  Write four and nine thousandths in standard form.
						

Thursday HOMEWORK, January 15			Name							
1. Solve. There are 156 fifth graders planning a trip and will need to fly to their location.  The plane has 8 seats in a row.  How many rows will need to be reserved for the fifth graders? 							 						

2. Compare using <, >, or =.     0.802  ______  0.8

3. Compute. Write the following improper fractions as mixed numbers.

a.    			b.    			c.    		

4. Estimate to the nearest whole number.  The chain measured 56 feet, while the rope measured 35 feet.  About how much more did the chain measure?  																			

5. Estimate. 2  +   3  =  			
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